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QUESTION 1

Which two statements are true regarding the creating of new MySQL physical and logical backups? (Choose two.)
A. Physical backups can be used to recover from data corruption.

B. Logical backups are human-readable whereas physical backups are not.

C. Logical backups are always larger than physical backups.

D. Physical backups are usually slower than text backups.

E. Physical backups are usually faster than text backups.

Correct Answer: AE

QUESTION 2

These details are shown when logged in to an account: Which set of statements would match the accounts shown?

mysgl> SELECT USER(), CUREENI_USER():

o o s
| TSER () | CORBRENT USER({}
e A
| robertflocalhost | emploveeflccalhoat
e e
mysqgl> S5HOW GLOBAL VARTABLES LIKE ‘check proxy user';
Tt e

| Variable name | Walue
e e

| check proay users | OFF
e Fommm

1l row in get (0.00 aec)

A. mysql> CREATE USER “employee\\'@\\'localhost\\' IDENTIFIED BY “more_secrets\\'; mysql> CREATE USER
\WW@\W\' IDENTIFIED BY ‘valid_password\\' WITH PROXY “employee\\'@\\'localhost\\'

B. mysql> CREATE USER “employee\\'@\\'localhost\\' IDENTIFIED BY “more_secrets\\'; mysqgl> GRANT PROXY ON
“employee\\'@\\'localhost\\' TO ‘robert\\'@\\'localhost\\'

C. mysql> CREATE USER ‘robert\\'@\\'localhost\\' IDENTIFIED BY “secret_password\\'; mysgl>CREATE USER
“employee\\'@\\'localhost\\' IDENTIFIED BY “more_secrets\\

D. mysql> CREATE_USER \\W@\\\' IDENTIFIED WITH authentication_pam ACCOUNT LOCK; mysql> CREATE
USER “employee\\'@\\'localhost\\' IDENTIFIED BY “more_secrets\\'; mysql> GRANT PROXY ON
“employee\\'@\\'localhost\\' TO \W\\'@\\'\\;

Correct Answer: D

QUESTION 3
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Consider:

mysgl> EXPLAIN SELECT Name FROM Country WHERE Population BETWEEN 1 AND 10000\G

LR R B R R R R R R R R R 1' ro|'; LA R B R B B R B R R R R R R R EEEEEEE SRS}
id: 1
select_type: SIMPLE
table: Country
type: range
possible_keys: i_pop

key: i_pop
key len: 4

ref: NULL

rows: 10

Extra: Using where
What does the range value in the type column mean?
A. You can use an index and return rows that fall within a range of values.
B. The table will be scanned over a certain range of values.
C. This type of index uses the range hash.
D. There is a range of indexes that can be used.

Correct Answer: C

QUESTION 4

You are using GTIDS in replication. You need to skip a transaction with the GTID of aaa-bbb-ccc-dddeee:3 on a slave.

Which procedure would you execute from a MySQL prompt?
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A STOP SLAVE:;
SET GLOBAT. SQL_SLH“J’E_SKI P_CGUNTERZl;

START SLAVE:;

B. sTopP SLAVE:
SET GTID NEXT='aaa-bbb-ccc-ddd-eee:3"';
BEGIN;
COMMIT
SET GTID NEXT='AUTOMATIC':
START SLAVE

C. sTOP SLAVE:
RESET SLAVE:;
BEGIN;

SKIP NEXT GTID:
COMMTIT ;
START SLAVE:

D. sTOP SLAVE:;
BEGIN;
SET GTID_ IGNORE='aaa-bbb-ccc-ddd-eee:3':;
COMMIT ;
START SLAVE:;

A. Option A
B. Option B
C. Option C

D. Option D

Correct Answer: B

QUESTION 5
Which statement is correct about how InnoDB storage engine uses disk space?

A. It stores data in .MYD files and its index and undo information in the common tablespace.

B. It stores data in .MYD files, index information in .MYI files, and undo information the common tablespace.

C. It stores its data in tablespace file(s). Index and data dictionary details are stored in .FRM files.
D. It stores its data, index and undo information in .MYD and .MY!| files.

E. It stores data, index and undo information in tablespace file(s).
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Correct Answer: E
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